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EhIETe I€ |, Shiale Tifeehe Ctrl + E’ =T ST
% foru fora ST 21

(A) ST THL I AT HH

(B) T I g | Wifad &

(C) |YO! TEATSIST T =3 FA

(D) THZ F g 165 I hivee ¥ forgs

(E) orgafd 9

UH U UTeTurse § Sihd TS I % NH Hfaiad § @
-9 39 Tafatd faa ST 22

(A) TIEE HIE g (B) ST 374

(C) wEEgA (D) FITEE I 3o

(E) orgafd 9

freafaRad & & #H-91 37 Tidehie T8 82

(A) HTTP (B) DNS [
(C) NIC (D) Telnet

(E) a9

Gmail ZRT 3Tfhaw fohds MB 1 $0e STTH THINT BIaT 2,
59 =18 9 38 Google Drive foish B siget qar 22 (A A &

e 3T ferehed )
(A) 10MB (B) 15MB
(©) 20MB (D) 25MB
(E) 3¥gaia g
%, %,% 3T % T HCF 1 87

1 3
A To ®) 20
© 61_0 (D) %
(E) 3¥gaiasd

S SATh U (eie § 1Y F 1:2:3 % ST H 998 A, B 3R C
SS9 WYE A, B 3R C % Tedeh UeE 9L sHAl: X156, 165
HIT X 322 1 SAHd 57 g1 At SATHAT hl TF 919 Ad §Y
wfd =afh sfed =9 2

(A) T 165 (B) % 214:35
(C) %221 (D) 242
(E) ¥gaiasd

TIM P A TIA Q o Sfiel AT 3l F1d HIfor) Afe Toh o7 v
P ¥ Q s 40 Terwfi/sier i 7ifd | Im et B ST EIM Q U P
A 60 farfi/der 1 fa & aTae AT 2, 3 A | F 5
52 T qHT T &

(A) 150 fepeft (B) 100 feft
(C) 180 ferell (D) 120
(E) 3Tgeia 9

T & 1 % 1280 H s= I STl SferTd i, 3T g
T 1920 H S W B 91t Ifawrd <19 3 ST Bl 25% AT

AT % foTe 3req < forsher et T & =nfey
(A) 2000 (B) T 2200
(C) T 1850 (D) T 1600
(E)  orgafd o

In Microsoft Word, the keyboard shortcut ‘Ctrl + E’ is used
to .

(A) Copy selected text

(B) Align the text to the center

(C) Select the entire document

(D) Capitalize first word of the text

(E) Question not attempted

In MS PowerPoint which of the following views is displayed
during a conference slide show?

(A) Slide sorter view (B) Outline view

(C) Slide view (D) Slide show view

(E) Question not attempted

Which of the following is not an Internet Protocol?

(A) HTTP (B) DNS

(C) NIC (D) Telnet

(E) Question not attempted

What is the maximum size (in MB) of email attachment
supported by Gmail, after which it converts the attachment
into a google drive link? (Choose the most appropriate

option from below)

(A) 10MB (B) 15MB
(C) 20MB (D) 25MB
(E) Question not attempted
What is the HCF of %, %, % and % ?
1 3
A 1o B %y
1 3
© B0 D) 7

(E) Question not attempted

A certain number of persons went to a restaurant. They
belonged to groups A, B and C in the ratio 1:2:3. The
average amount spent on each member of group A, B and C
is ¥ 156, ¥ 165 and T 322 respectively. Taking all the
persons together, the average amount spent per person is:
(A) T 165 (B) 21435

(C) %221 (D) T 242

(E) Question not attempted

Find the distance between the station P and station Q. If a
train travels from station P to Q at a speed of 40 km/hr and
returns from station Q to P at a speed of 60 km/hr, to take
total time of 5 hours for the round trip.

(A) 150 km (B) 100 km

(C) 180km (D) 120km ﬁ
(E) Question not attempted
The percentage loss by selling an article for ¥ 1280 is equal

to the percentage profit earned by selling the same article
for ¥ 1920. What should be the selling price of the article to

make 25% profit?
(A) %2000 (B) 2200
(C) T 1850 (D) ¥ 1600

(E) Question not attempted
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A YR o e AT H, T TeATeft 1 /1= /el 1 55% Hd
Tt ST 20% #d ST 91C Q) I STt 7T wal i Fe
e 7500 off, d g6 et <6 firet w2 i < de 9rd )

(A) 2800 (B) 3000
(C) 2700 (D) 3100
(E) 3Fgaia 9

P Q I T 5000 3T R 1 F3 TR 14% AT 3T § Hramwor
ST SR | | AT 4 99 921 P Rl ed T 4480 ST e,
T R T 0T 9 TS AR 2

(A) T 1500 (B) %2100

(C) %3000 (D) T 4200

(E) orgafd 9

2011 T ST % AR, TSEH & FHefafad e 4 @
Torer TSfet T Tefiar &€ gerd & of?

(A) AT (B) ST E
© =& (D) ST

(E) 3rgafa g

frmfotiiaa # & for o o “WisiFe <" &1 e [ed &,
S8 wge eah o foreame 3t gam  fo7e 3 318 1980 &1 T
LS URCREDIRIRIDIV

(A) s (B) AR

(C) s (D) I

(E) a9

frefafaa & @ F9-07 ST-ufem Ioa ST 1 0 39T T8 22
(A) T (B) Sia®

(C) I (D) ITALR

(E) 3Fgaiawd

frfafaa & @ fpa wreT & 2009 7 feam siEe HHnEE
(STTE3TET) o feul ot O Sienfis st afed g3 of?

(A) =& (B) iHaTET

(C) SR (D) SHaH

(E) 3rgafa g

TS § UTeoT GET0T o Hew §, RAPCC (TR U d € €t )
i QU1 &9 T 22

(A) TSI TR W 3 FAT3HE Hetas

(B) TSTEAT TR W 3T FelgHE shalet

(C) TSR TR U BT FATgHE hiay

(D) TSR TR W 3T FAT3HE ot

(E) gafd g

TS ST o SR e HT AT o8 a9 | 6T 22

(A) 1457%. (B) 1458%.

(C) 14597%. (D) 1460%.

(E) Agaiasd

337 % T HUTH (1857 H) o G SAUSH g7 BiET 9T =@
S AT TSR % Jeed b o -

(A) Tasm fée afdre (B) 3TSH oA 9t

(C) =T =g Fifean (D) el fig ameEs

(E) rgafd 9

10

11

12

13

14

15

16

17

In an election between two candidates, one candidate got
55% of the valid votes, when 20% of the votes were found
invalid. If the total number of votes polled were 7500, then
find the number of valid votes that the other candidate got.
(A) 2800 (B) 3000

(C) 2700 (D) 3100

(E) Question not attempted

P lends ¥ 5000 to Q and a certain sum to R at 14 % per
annum simple interest. If after 4 years, P receives a total of
T 4480 as interest, then the sum lent to R is:

(A) T 1500 (B) 2100

(C) T 3000 (D) ¥ 4200

(E) Question not attempted

According to the Census of 2011, which of the following
districts of Rajasthan had the lowest literacy rate?

(A) Alwar (B) Jalore

(C) Churu (D) Jaipur

(E) Question not attempted

In which of the following places is the headquarters of
“Project Chetak” that was re-raised on 3 April, 1980 for
expanding and improving the road networks?

(A) Bikaner (B) Alwar

(C) Dausa (D) Ajmer

(E) Question not attempted

Which of the following is not a division of the North-
Western Railway Zone?

(A) Bikaner

(C) Ajmer

(E) Question not attempted

(B) Jodhpur
(D) Udaipur

Which of the following cities witnessed an industrial
disaster at an Indian Oil Corporation (IOC) depot in 2009?
(A) Churu
(C) Jaipur
(E) Question not attempted

(B) Banswara
(D) Jaisalmer

In the context of environmental protection in Rajasthan,
what does RAPCC stand for?

(A)
(B)
©
D)

(E) Question not attempted

Rajasthan Action Plan on Climate Conservation
Rajasthan Action Plan on Climate Control
Rajasthan Action Policy for Climate Conservation
Rajasthan Action Plan on Climate Change

In which year did Rao Jodha found the city of Jodhpur?
(A) 1457 AD. (B) 1458 AD.
(C) 1459 AD. (D) 1460 A.D.
(E) Question not attempted ﬁ
The first person from Rajasthan who was hanged by the
British during the country’s freedom struggle (in 1857)
was-

(A) Vijay Singh Pathik (B) Arjun Lal Sethi

(C) Amar Chand Banthia (D) Kesari Singh Barhat

(E) Question not attempted
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STl ] 1 AT 5 § T TGN ST 2, Al 3Taaet G907 gR s
ATl widfsresT =1 ST BlaT 2

(A) Tafda (B) forg wfdferesr

(C) TEH WA ATHERHT (D) I6 4 B

(E) orgafd 9

1551 Teht ST Hifer qew wedi =i fraeafir -2025 1 At
IERSEE IR v

(A) ST (B) IT I
(C) HET I (D) =famm
(E) gafd o

T T STt g A <fer shel & foharm i o
(A) 27 313, 2025 (B) 10TE, 2025

(C) 07,2025 (D) 22 31, 2025

(E) rgaidug

I, 2025 H AR § SRS TRRA SR g7 et
AT H T AETet Toed 8 Raermet s off?

(A) Toram afEr (B) feeamfa firg wen
(C) et Harer (D) ¥t eET
(E) ogaid 9

I TSIE 2025-26 % TTET, FFET shice HIE (FHTE) T+
foTT STiTere STt STEM AISHT % qed T3 01 HI1 1 27

(A) T29@@ (B) T59m@

(C) 39 (D) T109@ EE
(E) orgafd 9

A % {8 =T | “BHforeT Bikeaer” BT ST 872
(A) FmeiE (B) Ir&H

(C) Wi (D) TET

(E) rgafd 9

“TR{Y i HAT” TSR o o &5 | THTdT 87

(A) FHIARI (B) =Imhy
(C) TR (D) T
(E) 3¥gaiaud

TSR AT Shell 1 Uk &Y fSrent Y3 dam g, See,
TR, ST ST T TAA 31 T T o g, fop e 2,
FEATT 2

(A) B8 (B) wieum
(C) 9= (D) IS
(E) orgafd g

T ¥ feferfiga 9 fore T i “qiETe o aemea”
el SITdT 87

(A) SHed ol (B) IaTeT HfT
(C) TUTRYL S HfeT (D) de T T
(E) rgafd o

TSTET H 3T HATS o it 1 I T, S ge 37 Afged
Teh 919 TTd 8, 39 919 § ST ST &

(A) e (B) eHHter
(C) Qi (D) #ig
(E) . 31gmfed 9

&Y g Ir@rad, TR SR ARl I R TSremT I et
Titg FeTHe 87

(A), T (B) T
(C) waTE I (D) aTE dreft e
(E) 3¥gafa g9

18

19

20

21

22

23

24

25

26

27

28

The size of image formed by concave mirror, when the
object is kept beyond the center of curvature is: E
(A) Magnified (B) Point image
(C) Same size as object (D) Smaller than the object
(E) Question not attempted

Which state hosted the 15th Hockey India Senior Men
National Championship -2025?

(A) Punjab (B) Uttar Pradesh

(C) Madhya Pradesh (D) Haryana

(E) Question not attempted

When was Operation “SINDOOR” launched by Indian
Armed forces?

(A) April 27,2025

(C) May 07,2025

(E) Question not attempted

(B). May 10, 2025
(D) April 22, 2025

Who was the player from Rajasthan who participated in
Asian Junior Women’s Handball Championship held at
Tashkent in August, 2025?
(A) Kiyanna Parihaar

(C) Norti Mewada

(E) Question not attempted

(B) Divyakriti Singh Rathore
(D) Avani Lekhara

As per the Union Budget 2025-26, what is the new loan
limit under the Modified Interest Subvention Scheme for
Kisan Credit Card (KCC) loans?

(A) T 2 Lakh (B) T 5Lakh

(C) % 3 Lakh (D) ¥ 10 Lakh

(E) Question not attempted

In which state of India is “Hornbill Festival” celebrated?
(A) Nagaland (B) Assam

(C) Manipur (D) Meghalaya

(E) Question not attempted

In which region of Rajasthan is the “Kapil Muni Fair” held?
(A) Kolayat (B) Chaksu

(C) Chandanpur (D) Nawalgarh

(E) Question not attempted

A form of Rajasthani folk art used to decorate walls,
doorways, doorsills, platforms (chabutaras), courtyard and
places of worship etc. is known as:

(A) Phad (B) Mandana

(C) Paane (D) Kavad

(E) Question not attempted

Which of the following monuments in Rajasthan is known
as the “Taj Mahal of Marwar”?

(A) Jaswant Thada (B) Dilwara Temple

(C) Ranakpur JainTemple (D) Fateh Prakash Place

(E) Question not attempted

The famous folk song of the Bhils of northern Mewar in
Rajasthan, sung by men and women together, is known as:
(A) Patelya (B) Hamseedo

(C) Languriya (D) Maand/Mand

(E) Question not attempted

Roop Singh Shekhawat, Dayaram and Tara Sharma are
renowned artists of which Rajasthani dance form?

(A) Garba (B) Ghoomar

(C) Bhavai Dance (D) Terah Taali Dance

(E) Question not attempted
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29  TSRYH o AH AT “THd AR § A1¢h o HeAThR
%1 T ST 2
(A) IR (B) St
(C) wfeam (D) "
(E) rgafd 9%
30 =i 1o wrer g 11 =61 frer <hifsie-
Tt 1 (77eT) = 11 (Frreon)
a. ol I SearEs faemor
b. T II.  qeTeHe fermieor
c. I IL.  Torar=eh farsror
d. s Iv. gfesmyor
it a3 e foreped # @ werd 30 3L R =TI I
(A) a-TLb-1,c-IV,d-1I
(B) a-ILb-1Lc-1V,d-1
(C) a-1V,b-Lc-1IL d-TI k3
(D) a-ILb-1V,c-1I,d-1
(E) rgafid 9
31 ffefad & & acam wee -
(A) adl (B) Sfiw
(C) Ha (D) Tfx
(E) 3¥gaiasg
32 frefcfiad 7 @ qg9a wredl i = IS -
a. 9ol b. 9
c. A d ¥R
e. U
et for o foereat & & Tt 3 o1 9 i
(A) FaTb N e (B) *ad a3 d
(C) Fadda T c (D) Faad 3N e
(E) 3¥gafasg
33 i & & ia-ar 2art wrse T 27
(A) HIT (B) feferm
() w (D) FFft
(E) orgafid 9
34 ffafad weai & @ Rt yrse 1 === Fifsm-
(A) i (B) 33
(©) @ (D) =
(E) rgafd 9
35 glieqr 1 Gfe-fa=sg -
(A) h+a (B) uftt+e
(C) TH+3am (D) uft+sa
(E) 3¥gaia 9
36 STATOr YTeg o Gi-foeag BIm-
(A) STHITT (B) SeH=ma
(C) 3= (D) S=AHT
(E) Agaiayd
37 HAfafer 3rog | -9 3T 27
(A) B) ¥1q
(©) stfa (D) e
(E) rgaid 9

29

30

31

32

33

34

35

36

37

In the musical drama “Rammat folk drama” of Rajasthan,
the performers of this musical drama are called:

(A) Kathakans (B) Jogi

(C) Mediya (D) Khelars

(E) Question not attempted

i 1 o | = 11 7 e it

F=t 1 (9153) T 11 (frrm)
a. el I HEIErE o
b. U= II.  qoIcas famio
c. A II1. Iorar= oo
d. e Iv. gfessor

e o U forepedt § § e IR ST T = IS
(A) a-TILb-Lc-1V,d-1I
(B) a-1ILb-1Lc=1V,d-1I
(C) a-1V,b-I,c-1II,d-1I
(D) a-1Lb-1V,c-MI,d-I
(E) Question not attempted

fr=fafad 49 deam wree 8-

(A) ot (B) it

(C).. e (D) T

(E) Question not attempted
freferfaa 5 & qgwa veal o = i -

a. I~ b. ™

¢ oAfq d. HR

e. U

Fra fo3r o foremedt & @ et ST o =e il
(A) FaAb I e (B) Faaa3Td
(©) FacT a A ¢ (D) Fad d 3T e
(E) Question not attempted
Frfafiad o § -1 39 3168 A& 82

(A) & (B) fefemm

(© = D)

(E) Question not attempted

freafaftaa wreat § & fawrst wreg &1 === Hifsme-
(A) 3T (B) 33

©) % (D) =

(E) Question not attempted

e w1 GiY-fa=ae B

(A) e (B) wftra
(C) wi+Eam (D) aft+dam
(E) Question not attempted

FTAN I168 kT HeT-fowesg B-

(A) 3d+=TT (B) 3+=TO
(C) 3+ (D) S=AHIT
(E) Question not attempted

AT TToq T HIH-HT TG 22

(A) & (B) ¥
(©) afq (D) 31

(E) Question not attempted

25090M K-



https://skscholar.com

P4 V4
6

S . A §
B N
| U VU

38

39

40

41

42

43

44

45

46

47

G T8 H -8 T 27

(A) & (B) @H

© T (D) =T

(E) 3¥gaiasg

ot STehl ATer wie ek ft Fefafaa & @ form gt
eI Hell B o farmsar & faw afrg &2 EE
(A) FH3gaet (B) SEEfuT

(C) SHTeAsItorT (D) THq

(E) rgafid 9

TS 6T -5 3fiet <l o= (i Tl w1 Osm) FAm E
g 87

(A) STHTEFR 3t (B) fusten sfa

(©) T (D) Tferéis sie

(E) rgafd 9

14 ST 1947 I, ARATT G€T @91 & G0 1 1T F8
g1 (=1 1§ Hol 3uh forsbed )

(A) S frEm Gl S0 et <Al

(B) idtr forem Gl o Hewi g STee Il

(C) forea i werrt grr WAl

(D) T % TG gRT =T

(E) Agafaug

TSAITS S S foRAT TR S7eremn, T foramwed &
FANH & o1e, HARIHdT fhd" G deh T T 27

(A) 189HE (B) 69HE
(C) 249HTE (D) 2099E
(E) 3¥gaia 9

WA Fferem 1 3g=oe-60 frefafiaa & et :
(A) T % TSI gRT 19 A7 Sfag=

(B) W % Tegufd &1 A1

(C) A % Tegufd & &9 § At g < e
(D) Tregafd < ue < forq ord

(E) gaid 9

U ¥ fohad 3= <o 8, St Sfeer o o St
T 9T ] (H STa 94T I &h)?

(A) U= (B) 3

(C©) ¥ (D) diF

(E) Agafasg

AR Efererm =1 o =it o S, T e & fawe
A &2

(A) TSI (B) g
(C) Tt gt (D) ST gt
(E) orgafd g

TISTET i ST FH1E 2024-25 % STTEN, SAUH STAAT
e 9 A 2024-25 3 e T et 0T ST g =
GHW%:-

(A) T 1,66,647
(C) T 1,85,053
(E) 3¥gafa g

Jaet 2025 § fmfafiad 9 @ forg @ S A T | i

Sl

(A) 53 @« e gfafdd T
(B) @@t fag 92025

(C) el 3fean dr ey

(D) BTt 9oy TR

(E) 3¥gafea g9

(B) % 1,95,053
(D) ¥ 1,90,053

38

39

40

41

42

43

44

45

46

47

G W63 | -8 T &7
(A) (B) §HT
(OERY (D) =&
(E) Question not attempted

Shri Janki Lal Bhand is renowned for his expertise in which
of the following traditional performing arts of Rajasthan?
(A) Kathputli (B) Bahrupia

(C) Kalbelia (D) Rammat

(E) Question not attempted

Which lake of Rajasthan is popularly known as “Tirtha Raj”
(King of Pilgrimage Sites)?
(A) Anasagar Lake

(C) Pushkar Lake

(E) Question not attempted

(B) Pichola Lake
(D) Siliserh Lake

How were the members of the Indian Constituent Assembly

chosen on 14th August 1947? (Choose the most appropriate

option from below)

(A) Directelection by the Provincial Legislative Assemblies.

(B) Indirect election by the members of the Provincial
Legislative Assemblies.

(C) Nominated by the Queen of Britain.

(D) Nominated by the Viceroy of India.

(E) Question not attempted

An ordinance promulgated by the Governor of a State
remains in force for a maximum period of how long after
the reassembly of the State Legislature?

(A) 18 Weeks (B) 6 Weeks

(C) 24 Weeks (D) 20 Weeks

(E) Question not attempted

The Article-60 of the Indian Constitution is related to the:
(A) Oath or affirmation by the President of India.

(B) Election of President of India.

(C) Qualification for election as President of India.

(D) Conditions of President’s office.

(E) Question not attempted

How many High Courts having jurisdiction over more than
one state are there in India (Union Territories not included)?

(A) Five (B) Eight

(C) Seven (D) Three
(E) Question not attempted

Under which list of the Constitution of India, is the subject
of “Local Government” included?

(A) State List (B) Union List

(C) Concurrent List (D) Welfare List

(E) Question not attempted

According to the Economic Review of Rajasthan 2024-25,
the estimated per capita income at current prices for the year
2024-25, based on advance estimates is:-

(A) T 1,66,647 (B) ¥1,95,053

(C) ¥1,85,053 (D) ¥1,90,053

(E) Question not attempted

Which of the following games will be hosted in Rajasthan in
November 2025?

(A) 5th Khelo India University Games

(B) Kho Kho World Cup 2025

(C) Khelo India Para Games

(D) Hockey Men’s Asia Cup

(E) Question not attempted
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TS HTHT S Y 2l 7T Hewa e @reft Jerrar s

ama%:saw%’(ﬁﬁrﬁﬁaaﬁmﬁwaﬁ)

(A) mﬁmﬁﬁwmmw%ﬁﬁnwﬁﬁ
< T i Resrfer 7 Fere wETET SEH

(B) TRt &1 3k Wal 9t =g geamret o fmior 3 forg
[ENIREHECIRHEEC

(C) Tormmt =it Hf Suehtor S Wil Wi & fore faefi
ETIAT Y& LTI

(D) e Tt =1 Y 9t wliey & o foeta wemar
&M &

(E) 3¥gafaug

TSR TS I 2025-26 % ALER, “seiteh T s <6t

TYTIAT gl ol SITaft?

(A) & (B) ®it

(C) @i (D) SiaR

(E) 3¥gaia s

S[ATS 2025 o S TSR H FHeATH JAT Aqcd T
(KYLC 7.0) Fef sTrifera foham mame

(A) ST (B) et

(©) SAYX (D) AW

(E) 3¥gaiaug

frfafaa & @ F19-91 U Tl giteaat T8t 22
(Pt 3 & ) 37 ferehed =) |53
(A) TH.TH. U

(B) U= BIIEIT

(C) I (Unix)
(D) s H1.ud. HIfEH (WPS Office)

(E) 3Fgaia g

T TSTEAT T % TS I, TSTEL T % Tl HETerarhl hie
o 2 (= 1 & e 39k forehied =)

(A) <t Ty, et B) s, Fracae

(C) &t wEs, faard (D) #ft ST, Tt

(E) orgafd o

TS 1 TSI 3771 HERT 6t Frpfeh foreeh qmet ot ed 82

(A) 3T (B) I ARTT

(C) Tewst (D) e wt

(E) 3¥gaia 9

TSI T HEAT % FHTH B 3% 1S TSTEAM % Teet Tsaare
AT (Frt ¥ & e IoRIeh forshed )

(A) e T g (B) TSt AT e ficfr
(C) T faeish (D) it afer T/ W

(E) 3¥gaiasg

WA § e =ArTer & =i i i ettt o
Y I Ll 27 (e o O W I forehed <)

(A) T % Tegufa (B) R o eI wft

(C) I H&F <R (D) TST 1 TSAUTA

(E) 3fafaug

HTIATS AR - 2005 % FTHR T-3 AT BN ATHR & FIS
9T Sf 98 AT % I 3o @ 22 (e 0 @ ool Sug

forshed =)

(A) T209fdYs (B) T109fd9s
(C) %129fdUs (D) Z29fags
(E) 3¥gaia 9g
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54

55

56

What is the objective of the Mukhyamantri Krishak Sathi
Sahayata Yojana launched by the Rajasthan government?
(Choose the most appropriate option from below)

(A) To provide financial assistance to  farmers ‘and
labourers in case of fatalities or injuries to their various
body parts.

To provide financial assistance to  farmers for
construction of irrigation structures on their fields.

To provide financial aid to farmers for buying farming
tools and machinery.

To provide financial aid to landless farmers for buying
agricultural land.

(E) Question not attempted

According to the Rajasthan State Budget 2025-26, where
will the proposed ‘Block Printing Zone’ be established?
(A) Bagru (B) Sikar

(C) Sanganer (D) Jodhpur

(E) Question not attempted

B)
©
D)

Where was Kalam Youth Leadership Conference
(KYLC 7.0) held in Rajasthan during July 2025?
(A) Jodhpur (B) Jaisalmer

(C) Jaipur (D) Udaipur

(E) . Question not attempted

Which of the following is not an application software?
(Choose the most appropriate option from below)

(A) MS Paint (B) Adobe Photoshop

(C) Unix (D) WPS Office

(E) Question not attempted

On the formation of the new state of Rajasthan, who became
the first Advocate General of the state of Rajasthan?
(Choose the most appropriate option from below)

(A) Dr. LM. Singhvi (B) Shri G. C. Kasliwal

(C) Dr. S.K. Tiwari (D) Shri R.K. Rastogi

(E) Question not attempted

The Governor of a State appoints other Ministers on the
advice of-

(A) Speaker

(C) Chief Minister

(E) Question not attempted

(B) High Court
(D) Prime Minister

Who became the first Governor of Rajasthan, after the
abolition of the institution of Rajpramukh? (Choose the
most appropriate option from below)

(A) Gurumukh Nihal Singh(B) Maharaj Man Singh 1T
(C) Raghukul Tilak (D) Shri Bali Ram Bhagat
(E) Question not attempted

Who among the following appoints the judges of the
subordinate courts in India? (Choose the most appropriate
option from below)

(A) President of India (B) Prime Minister of India
(C) Chief Justice of India (D) Governor of State

(E) Question not attempted

As per the RTI Act — 2005, what is the fee per page of
information, on A-3 or smaller size paper? (Choose the
most appropriate option from below)

(A) %20 per page (B) %10 per page
(C) 12 per page (D) 2 per page
(E) Question not attempted
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J N ¥4 By Q \ . Q
wr o O g O

57 UMFE g5 U fohad Fa1 2 82 57 Human heart has how many chambers?
A) 1 B) 2 A 1 B) 2
©) 3 (D) © 3 (D) 4

2

(E) gaid g (E) Question not attempted

58 oI U foReeh I BT 87

58 Malaria disease is caused by:

(A) Protozoa (B) Virus
(A) ST B) FrrE (%NTUD (C) Bacteria (D) Fungi
(C) s=fern (sfiamy) (D) == (E) Question not attempted
(E) STqdRa s 59 Match List T with List IT -
: List I List IT
59 = 1 o1 El 11 9 Gaferd =i -

il T II (Chemical Formulae) (Compound Names)

T 9) (@i @t ) a.  Na,CO;5-10H,O 'I.  Baking Soda
a. Na,COj5-10H,0 1. ﬁﬁ:ﬁﬂ?ﬁ‘%’r b.  Ca(OH), I1. Plaster of Paris
b.  Ca(OH), II. Wmm c. NaHCO; III. Washing Soda
c.  NaHCO; 1. TR HreT 1

1 d.  CaSOy- THZO IV. Slaked Lime
d CaSO4 2 H2 o Iv. @T‘g’mﬂj’f Choose the correct answer from the options given below:

A feg e ferepedt 3 & W S (A) a-1Lb-T, c-1V, d-1II
(g; a‘?’bb};c'lx;dd‘lg (B) a-1b-Ic-IV,d-1I
EC) Z:Iilt;-I,Vc::-I’d:H (C) a-IILb=1V,c-1,d-1I

’ e (D) a-1V,b-II c-1I,d-1

D -1V, b-MLc-1,d-1 .
EE)) a-1v, o e (E) " Question not attempted

60 The process of burning waste at high temperature in a

60 Terdlt forfeTe Fraey/sgt # S=er AU WX SYUfTE T el i specific reactor/furnace is called:

SIT3h=T =1 T ST & (A)- Landfill (B) Recycling
(A) © EF.;E ' (B) SIS (C) Vermicomposting (D) Incineration
(C) =fehaTREET (D) Wi (E) Question not attempted

(E) orgafd o

61 Choose the most appropriate option to translate the given

61 Choose the most appropriate option to translate the given sentence from English to Hindi:

sentence from English to Hindi: “You will need the registrar’s signature on this document.”

“You will need the registrar’s signature on this document.” (A) 37T T8 AT T AT o Fetard AT =1fey

(A) 3T T TEATAST T IRFEZH 3 SEdTar S A1y (B) ATYHT 3 SEATIST 9T USER o BEATET ki SqTervehedl

(B) STTYh! 30 IEATAST T INTER o BEATE il STTE9ehdl B |

2t | (C) 39 EATAST IT TTEER o BT hidl ol ﬁ

(C) 39 TEqTAST IT USTER 3 EETer s ia | (D) 39 IEATAST 9T INTER & BEdTe 2 Tkl 2l

D) == AT 9T ‘\'%‘I'{-_{F( o EEATEAT BT HehlT 2 (E) Question not attempted

(E) = R 62 What is the official term for “a written statement confirmed
62 What is the official term for “a written statement confirmed by oath or affirmation, for use as evidence in court”?

by oath or affirmation, for use as evidence in court”? (A) arbitration (fFam=)  (B) surveillance (ﬁvm'-ﬁ)

(A) arbitration (ﬁ?ﬁﬁ) (B) surveillance (i':!"m) (C) affidavit (FTHATHI) (D) executive (W?&m"lﬁ)

(C) affidavit (BI%ATN) ~ (D) executive (FRIHT) (E) Question not attempted

(E) 3 ks 63  Which one of the following regions of Rajasthan, is located
63 TSR o1 fefeilad § & -9 &, Siausie i 9 fieg on the international border?

27 (A) Churu (B) Rajsamand

(A) IE¥ (B) TSEHS (C) Bhilwara (D) Bikaner

(C) iarer (D) sfehTT (E) Question not attempted

(E) SHaias 64 The Tropic of Cancer passes through which of the following
64 heh TG USTEATE & fAeAforiad O 9 T 9T 9 et 1;|T;-|’{T-ﬁ 29 parts of Rajasthan? (Choose the most appropriate option

(F= & o o= 3ITH faeeyg a\ﬁ) from below)

(A) Judl fa (B) gfeoft femr (A) Northern tip (B) Southern tip

(C) HEI AT (D) tlfﬁﬁ'{'f (C) Central part (D) Eastern tip

(E) 1gaid 9 (E) Question not attempted
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65

66

67

68

69

70

71

72

faeaferfad 3 @ - =1 Tsteu % ey et TadHTeT §

feord &7 (=1 1§ gt 39k forehed =)

(A) TG (B) drrTe

(€) sum (D) 3T

(E) gafid 9

U BT TSR o Aefoaifad & 9 form Sifee & gsiferd 22
(F= o O e 39 farehed =)

(A) s AT (B) T SR

(C) < SR (D) HTsREdT sfe

(E) rgafd o

TSTET o 12T, §81 I Femars &= | ffafaa § 9 e
YeRr i Tl o w9 @ arg St 22 (e § 9 vl 3

[EETSRCE)

(A) YfrEar frgt (B) ra-diedT firgh
(C) hreft firgt (D) Hewrse firgh
(E) orgafd o

foRet erafT W 10% ATfeh & H 2 FNT & Fohdlg oA 3R
YTETOT SATS <hT ST T 12.50 B ST 1 HIfSTT Saifes st
I T ST B

(A) T 500 (B) %1000 EE
(C) T 1250 (D) %1500
(E) orgafd 9

W = F T 20,000 FT T T F AT HIERT A TS
I T sk (g, oATT X et foram| afe samst < &€ 10% 1k
311 2 9 3 370§ 34 el < 4120 SATST o, A |Tawo st
R ECHCIRERUNEIGERY

(A) T 7500 (B) ¥ 7800
(C) T 8000 (D) ¥ 8250
(E) orgafd o

A el § 4:5:7 3 STATG H 119 off| ST Yok el | 10 79
HIT ST &1 7T, 1 3TATA 6:7:9 B TN & H iia1 bl Fol ST
off:

(A) 64 (B) 80
(C) 96 (D) 110
(E) 3¥gafasg

3 STl % Hd H1 ITH Y TH ST % AT AT 4.7 2
B T T T TG 6 HT S T 22

(A) 1.7 (B) 2:5
(€) 15 (D) 3:7
(E) 3¥faia 99

formet, et 3T T9me 3. 50,000 T 331 0k A1gierl 3 U
ST 6 L T HEAT T et = 9et € % 4000 Ao
HIT YA WA ¥ 5000 FAfereh Fa fopw afe 3 F1 2
35,000 T AT HATA 2, a1 A1 B & fomret =t ferat wiyy et

(A) 9500 (B) % 14,700
(C) T 11,800 (D) % 16,500
(E) 3¥gatea 9g

65

66

67

68

69

70

71

72

Which of the following peaks is situated in the central
Aravalli range of Rajasthan? (Choose the most appropriate
option from below)

(A) Raghunathgarh

(C) Jarga

(E) Question not attempted

(B) Taragarh
(D) Achalgarh

The “Chhappan Plain” is associated with which of the
following basins of Rajasthan? (Choose the most appropriate
option from below)

(A) Banas Basin

(C) Luni Basin

(E) Question not attempted

(B) Mabhi Basin
(D) Sabarmati Basin

Which of the following types of soil is predominantly found
in regions of Kota, Bundi and Jhalawar in Rajasthan?
(Choose the most appropriate option from below)

(A) Desert Soil (B) Red-Yellow Soil

(C) Black Soil (D) Laterite Soil

(E) Question not attempted

The difference between the compound interest and simple
interest on a certain sum of money at 10% per annum for
2 yearsis< 12.50. Find the sum when interest is compounded
annually.

(A) 500

(C) %1250

(E) Question not attempted

(B) 1000
(D) % 1500

Bhuvan invested a total of sum I 20,000, partly on simple
interest and the remaining on compound interest. If the rate
of interest is 10 % per annum and he earned a total of T 4120
as interest at the end of 2 years, then find the sum invested
on simple interest.

(A) T 7500

(C) T 8000

(E) Question not attempted

(B) 7800
(D) T 8250

There were three buckets having balls in the ratio 4:5:7.
When 10 more balls are placed in each bucket, the ratio
became 6:7:9. The total number of balls initially was:

(A) 64 (B) 80

(C) 96 (D) 110

(E) Question not attempted

The ratio of the average of two numbers to one of the
numbers is 4:7. What is the ratio of the smaller number to
the greater number?

A 17

(©) LS

(E) Question not attempted

(B) 2:5
(D) 3:7

Vimal, Premal and Shyamal decided to start a business in
partnership by investing ¥ 50,000. Vimal invested ¥ 4000
more than Premal and Premal invested ¥ 5000 more than
Shyamal. If they earn total ¥ 35,000 profit, then out of profit
how much amount does Vimal get?

(A) 9500 (B) % 14,700
(C) T 11,800 (D) 16,500
(E) Question not attempted
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X, Y 3R Z Y forel s i A 24, 6 3R 12 e d g
T Gohd | TR 19 FT T J 39 F1H I o feat § e
A7

(A) % (B) 12
© 3% ® 33
(E) 3Fgafia g

18 &Y 3725 28 Afeed foRet 1 i 20 fo § 7 9 W 2
AT 6 W T 4 Al fretent i i, a1 W fora fai o qu
B ST

(A) 30 (B) 45 X
(©) 42 (D) 36 EE
(E) rgaidud

108 km/h =1 7if & < TET 970 Hiet wieft Temmel uh g =l |
fie 9 Hehe T UT X et 21 F Al 7 (et 7) 2

(A) 1080 (B) 1090
(C) 1100 (D) 1120
(E) orgafd o

Tk T T GHTE | 6650 3ATFHR Tl HT IcTET T 2l
AT GHET H YEHAT Ao M FLdl € e Seared gfcmrd J
[ESISIEER IR IRIRII]

257 24%

2%
20%
20 18%

16%

g —>

e &\ —>
TR ST TEa 1 IcATfeq fefeld Hiedl sh e A 2-
(A) 1197,1330 (B) 1463, 1596

(C) 1064, 1330 (D) 1064, 1197
(E) 3¥gafasg
frefefaa ¥t 8 & S19-31 451 1 9e T/ 82
(A) STfqaras (B) ZHArH
(C) smedarE® (D) =fhaTa®
(E) 3fgaia g9

TG TSHT YhST T, ST Shel F&T AT AN - T H S T
I Tty 398 © fored 22
(A) AMzEETEE g™
(O ELEIEER CEIt]

(E)  orgafd 9

(B) U®YETEIE HaATH
) RESEIEER:ETIC)

73

74

75

76

77

78

X, Y and Z each can complete a work in 24, 6 and 12 days
respectively. Working together in how many days will they
complete the same work?

(A) 27—4 B) 12
© 3% D) 3%

(E) Question not attempted

18 men or 28 women can complete a work in 20 days. If
6 men and 4 women work together, then in how many days
will the work be completed?
(A) 30
(C) 42
(E) Question not attempted

(B) 45
(D) 36

A 970 m long train running at a speed of 108 km/h passes a
tunnel in 1 minute 9 seconds. The length of the tunnel (in m)
is:

(A) 1080

(C) 1100

(E) Question not attempted

(B) 1090
(D) 1120

One company have a production of 6650 electric motors
during a week. Company works from Monday to Friday.
Day-wise production in percentage is represented by the
following graph.

251 24%

22%
20%
18%

16%

[5=]
(=]
N

Percentage

Monday Tuesday Wednesday Thursday Friday
Days of Week ——>

The number of electric motors produced on Tuesday and
Thursday are respectively -
(A) 1197,1330

(C) 1064, 1330

(E) Question not attempted

frfafaa 98t 9 @ w91 @51 1 9 T8 292
(A) SHfder= (B) ZHATE®
(C) 3TgdaTa+ (D) fhaTas®

(E) Question not attempted

1463, 1596
1064, 1197

(B)
(D)

T TSR YhST T, ST Shel JET STTAT M) - AT/ I Fa |
o1 Gafer 398 § forod 22

(A) AfeRErEs gaaTy
(C) Gelerameres gamd

(E) Question not attempted

(B) UwYaTEH G
O)RESEIEER:EEIL]
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79 TS fpamatt &7 et R Ut 2, 3 el STl 2- 18 79 S forameit 1w Y W TedT 2, 3 FE S 8-
(A) m (B) W%F;m (A) m (B) maqﬁa:%%m
(C) AT (D) eihrierh (€) = (IR CEAIRED
(E) orgafd 9 (E) Question not attempted
80 freferfiad wsal # & e ITeg &1 wAaT= TE &2 80 il wredi & & “wiet wTsq s qaiaTHT TE 7
© v oy et © v (o) T
© = (D) # (©) (D) #
(E) Agafasg (E) Question not attempted
81 ITIH TR FH faeAd 2N 81 “ITIFHS I8 H faam BrT-
am o SER -
©) g™ (D) 3 g T
(E) Iaiagq (E) Question not attempted
82 g e T ST arer s & fore 3fera wree gimr- 82 ;ﬁﬁ%ﬁﬁﬁaﬁm’a@?ﬁmﬁwﬁw
A) ST B) 39S AT B) Sifd
EC)) st ED)) STt (C) Afadr (D) e
(E) amhasr&r (E) Question not attempted
83 FreafRifiad At i & s197e T 1 T AR 83 fefeifid it § & s A 1 <o -
remrer (A) = RS g em
*) = A o HeTeeft SETETE FHarEt §
(B) TeTed ST FatE ¥ (B) !
(C) ¥ 7l I&a 2 © fﬁ? EEE ﬁ;%'
(D) E“Tf% C‘Hﬁﬁ = Eg)) Question notqzte%rln ted
) - Freffor 2 i e s e
84 ﬁur%fﬁaaﬁﬁaﬁr{wamq'%uaﬁﬂwww%? 84 A) qﬁg:rwgaw;g?m FARE?
(A) e gE 3312 | (B) WIET AT WIEA (B) et 11 T 2T |
(C) =tz arvfi-oneft fiaheT 1 (D) Gwad: o2 el STT@T | (C) =tz 3pvft_a7eft e 2 |
(E) TqaRasa (D) E¥¥: E el ST |
85 I 9T YT TG tl%'l?ﬁsh‘r a7ef 2- (E) Question not attempted
(A) T ST T T T 85 ST qT 4T TEAT WErE h o7 2
(B) o I R ww (A) ST ST BT 12 T
(C) I & (B) & I BT G
(D) &2 Y AT ATFEHT TEHAT (€) ;ﬁfgﬁgﬁq‘[
(E) STLARds= (D) <Y SITET 9aer Wt
86 “Notification’ % foTT Ik €1 aett wamTeff firmet wroq - (E) Question not attempted K3
(A) ST (B) dfw 86 “Notification’ % fTe T B arer wmeff fawst wreg 2-
(C) tergar (D) FETT SR (A) FTETH (B) it
(E) TIaRd = © “iéﬂqa:‘ (D) AT AT
87 WA TR GARTE SARF 31 fgd &9 & JaT T dred (E) Question not attempted
¥, I8 TEHT TER Y HUf? 87 WG RN TATTET A 1 foreqa &9 8 TR T ared!
(A) Y forfu g (B) ST ZRT ®, T gl T A 7
O mmy  Rmpews | @wme g
(E) SIgaRawT Al
88 Fill in the blank in the following sentence with the correct (E) -Questlon nolt attempted . )
tense: 88 Fill in the blank in the following sentence with the correct
. . tense:
Jubin the plum cake by this time tomorrow. . L.
(A) is baking (B) had baked ‘(Iil;mim the plum cake by this time tomorrow.
; . g (B) had baked
(C) have being baked (D) will have baked (C) have being baked .
3 g bake (D) will have baked
(E) =1 " ' ‘ . (E) Question not attempted
89 Choosegfile most app ropriate F)pthl‘I.tO convert the following 89 Choose the most appropriate option to convert the following
sentenf froffi Active o Passive voice: sentence from Active to Passive voice:
Shetold him to come early. She told him to come early.
(A) Hettold her to come early. ) (A) He told her to come early.
(B) He had been told by her to arrive late. (B) He had been told by her to arrive late.
(€). Hewas told by her to come early. (C) He was told by her to come early.
(D) Come early, she told him. (D) Come early, she told him.
(E) ~ SIgaNa 94 (E) Question not attempted
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Choose the most appropriate option to convert the following
sentence from Direct to Indirect speech:

Pali said, “Arjun, please put your hat back on.”

(A) Pali requested Arjun to put his hat back on.

(B) Arjun was requested by Pali to put his hat on.
(C) Pali asked Arjun to put her hat back.

(D) Pali told Arjun to put on his hat.

(E) rgafd o1

25 T 1948 Y TS, TSR E¥ 3 Ygot TeTTHsft i o1 92
(A) TS I (B) YT TW

(C) TIehet AT SIS (D) TTITRT AT =

(E) 3¥gaiasg

frafaiRad ® @ TS @ I 9Rd % 119 STsgafd o §9 7
FHE &2

(A) Sl arfea (B) SEY g@S Ez
(C) YT TEY U13h (D) W f&e TrETEa

(E) a9

AT o TrereerTHt e <Y Suet 82

(A) J@mERET (B) ®TEHdT

(C) el (D) Farel

(E) 3¥gaiasg

AT AT o SR, I8 F1ed 0= few g e
TETT, ST forslt, Tt ST i o i firerdr 2, 39 e
%.

(A) TEl (B) afer

(C) =aftsr (D) &M

(E) Agafasd

“Hrerdll” T Y fora o fore fore forfdr <ar s o stra 22
(A) TEE (B) AT

©) 3 (D) Twd

(E) rgafd 9

T HTE H ISl o T8 o TSTer g5y fohe Jerr 6l ot
Ted 87 (R 1 4w 39 forehed <)

(A) wdéia (B) HigsT

(C) w=fEn (D) e

(E) orgafid 9

1! gfierg AT H 9 -1 ST ST ATl g1 et
T ST 27

(A) famfaat (B) HUIEA

(C) A (D) TEE

(E) 3¥gaiaug

freaferiiad # 9 forer wrficee e = sfter afert Tsreer 3
T (S BT Foreiy &9 & vl 22

(A) wrar (B) waf@n

(C) &m (D) 72

(E) Agaia s

AT SIS 1 7T Hie T # feferiad § 9 fah v o
fera 22

(A) TR (B) TS
(C) TEdET (D) TR
(E)  orgafd 9
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Choose the most appropriate option to convert the following
sentence from Direct to Indirect speech:

Pali said, “Arjun, please put your hat back on.”

(A) Palirequested Arjun to put his hat back on.

(B) Arjun was requested by Pali to put his hat on.

(C) Pali asked Arjun to put her hat back.

(D) Pali told Arjun to put on his hat.

(E) Question not attempted

Who became the first Prime Minister of the Union of
Rajasthan, formed on 25 March 1948?

(A) Hiralal Shastri (B) Sobha Ram

(C) Gokul Lal Asawa (D) Manikya Lal Verma

(E) Question not attempted

Who among the following from Rajasthan served as the 11th
Vice-President of India?

(A) Pratibha Patil

(B) Jagdeep Dhankhar

(C) Gopal Swarup Pathak

(D) Bhairon Singh Shekhawat

(E) Question not attempted

“Nagarchol” is a sub-dialect of which Rajasthani dialect?
(A) Shekhawati (B) Hadoti

(C) Mewari (D) Dhundari

(E) Question not attempted

According to Motilal Menaria, the poetic text where we find
the description of the greatness of a king, his conquests,
wars and valour is called:
(A) Raso

(C) Vachnika

(E) Question not attempted

(B) Veli
(D) Jhamaal

What is the script used to write ‘Malvi’ language?
(A) Gurumukhi (B) Devanagari

(C) Urdu (D) Roman

(E) Question not attempted

What kind of turban do the Rajasthani men wear on the
occasion of Teej in the month of Shravan? (Choose the most
appropriate option from below)

(A) Madeel (B) Mothda

(C) Lahariya (D) Bandhej

(E) Question not attempted

Among the names listed below, which is an article of
jewellery worn by Rajasthani women around the neck?

(A) Timaniyan (B) Karnphool

(C) Nogri (D) Rakhadi

(E) Question not attempted

Among which of the following communities of musicians is
the Morchang (Jew’s harp) particularly popular in western

Rajasthan?
(A) Bhopa (B) Sahariya E
(C) Langa (D) Nat

(E) Question not attempted

The main temple of Veer Tejaji is located in which of the
following places in Rajasthan?

(A) Ranthambore (B) Kushalgarh

(C) Parbatsar (D) Bagore

(E) Question not attempted
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100 ToREIH & fmfafad & @ foeg & & 9 SarE &t | 100 In which of the following regions of Rajasthan was the
Hacdd-2025 AT T2 Ranakpur Jawai Bandh Festival -2025 celebrated?
(A) HREE A (B) CE) (A) Mount Abu (B) Bundi
(C) wTETE (D) uTedt % (C) Jhalawar (D) Pali
(E) Safa g (E) Question not attempted
101 TSR ¥ Sieie gl & s g frafafga § @ Sa-ar e @l | 101 Which of the following statements is correct about alluvial
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(A) € HH IS T R

(B) e Ot T, e, Tt ST deiref; o fore S9eh et 2

(C) I& Hfcwm, Bieprd, drem 3 diE dedl § W ¢,
ARt 38H ATgZISH T FHT 2l 2

(D) 39 O firgh & A & +ff ST St 2

(E) rgaid g

TSR o6l Sty 1 frefetfiad o & -1 ek gifad T8t
AT 2?

(A) FEA

(B) rerisfia feorfq

(C) uaa i famm

(D) TS H St ST aTeft sfert

(E) gafid 9

TSTET | 2024 H, AT €IS (S-fada) % 3R form 7e
W dratafer Sfied a9t 1 Fe HH TTaRTd gt (oAt T

(A) fads (B)
(C) g (D) 3T
(E) ¥gafaug

freafafa & @ F9-91 ISl SR, TS & S & |
feera a2

(A) THETR IS I

(B) GG TSI ST9INT

(C) FAFTER F=sfa ST

(D) TG TS STHATTT

(E) rgafid o

TET AT eIV o uorea™ & fefafea @ form g o
e a?

(A) 1 (B) S

(C) SR (D) ST

(E) a9

frfafiaa & 9 -6 =it sy, TsreT § feuq 22
(A) foefivg (B) Ereamr

(C) SAHSEIR (D) e G

(E) . 37gafta 99

frafafaa & @ -9 T A 7 afem = e Tt 22
(A) HET I (B) TSI

(C) ST (D) TSI

(E)  3¥gaia 99

102

103

104

105

106

107

soil in Rajasthan?
(A)
B

It is a less fertile soil.

This soil is not suitable for wheat, cotton, mustard and
tobacco.

(C) 1t is rich in Calcium, Phosphorous, Potash and Iron
contents but lacks in Nitrogen.

D)
(E)

Which of the following factors does not influence the

It is also known as Regur Soil.
Question not attempted

climate of Rajasthan?
(A)
(B)
©
(D)
(E)

In Rajasthan which month during the monsoon season

Distance from the sea
Latitudinal position

Wind direction

Dialects spoken in the state
Question not attempted

(June-September) in 2024, recorded the lowest percentage
of Long Period Average (LPA) rainfall?

(A) September (B) June

(C) July (D) August

(E) Question not attempted

Which of the following wildlife sanctuaries, is located in
Baran region of Rajasthan?

(A)
B)
©
(D)
(E)

Mansa Mata Conservation Reserve is situated in which of

Ramsagar Wildlife Sanctuary
Sariska Wildlife Sanctuary
Vanvihar Wildlife Sanctuary
Shergarh Wildlife Sanctuary
Question not attempted

[42

the following regions of Rajasthan?

(A) Jhunjhunu (B) Jaipur
(C) Jodhpur (D) Bikaner
(E) Question not attempted

Which of the following lakes is located in Alwar, Rajasthan?
(A) Siliserh (B) Didwana

(C) Anand Sagar (D) Kanak Sagar

(E) Question not attempted

Which of the following states is not a part of the Mahi river
basin?

(A) Madhya Pradesh

(C) Uttar Pradesh

(E) Question not attempted

(B) Gujarat
(D) Rajasthan
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A 2l SHIUHT (2011) % HATHT, TSTEAH T el SHEEAT
I 2l et SIEEAT T T gfaerd off?

(A) 10.11% (B) 5.66%

(©) 7.85% (D) 11.20%

(E) orgafd 9

TSTET 5 01 3119 R s o 7t o 32

(A) =" (B) it

(C) == (D) =Tt

(E) 3¥gafaug

TSR o frefafiad f9et § |rEm @) & 3ai & o
Gaiferen qTT ST 2 -

(A) SR, FRY, ACAEE, feriteTe
(B) T, ureft, 3T, gL

(C) SIHTHT, ATGHT, ST, TI&

(D) HTeHT, G, iaT, AT

(E) a9

[42

Choose the most appropriate option to transform the
following Negative Sentence to an Affirmative Sentence:
We did not find many students.

(A) No students were found.

(B) We found a few students.

(C) Some of us were found.

(D) Students were hardly ever found.
(E) SATaRa 94

Choose the most appropriate option to transform the given
Interrogative Sentence to a Negative Sentence:

Why blame him?

(A) He deserves all the blame.

(B) He is usually the target of the blame.

(C) He should not be blamed.

(D) Should he not be blamed?

(E) rgafd o

Choose the most appropriate option to transform the given
Assertive Sentence to an Exclamatory Sentence:

It is sad to think that he died so young.

(A) Wish he was still here!

(B) Alas! He died so young.

(C) Bravo! He died but young.

(D) Did he really die at such a young age?

(E) ogafid 99

Choose the most appropriate option to correct the following
sentence:

He has been to Amrapalli, did he?

(A) should he? (B) hadn’t he?

(C) didn’t he? (D) hasn’t he?

(E) 3¥gaia 99

108

109

110

111

112

113

114

As per the Census of India (2011), the total population of
Rajasthan was what percentage of the total population of
India?

(A) 10.11%

(C) 7.85%

(E) Question not attempted

(B) 5.66%
(D) 11.20%

Rana Pratap Sagar dam is built on which river in Rajasthan?
(A) Banas (B) Luni
(C) Chambal (D) Mabhi

(E) Question not attempted

Teak trees forest is found the most among the following set
of districts of Rajasthan -

(A)
B)
©
D)
(E)

Udaipur, Dungarpur, Jhalawar, Chittorgarh
Sirohi, Pali, Ajmer, Jaipur

Jaisalmer, Barmer, Jodhpur, Churu

Sikar, Jhunjhunu, Kota, Nagaur

Question not attempted

Choose the most appropriate option to transform the
following Negative Sentence to an Affirmative Sentence:
We did not find many students.

(A)
B)
©
D)
(E)

Choose the most appropriate option to transform the given

No students were found.

We found a few students.

Some of us were found.

Students were hardly ever found.

Question not attempted

Interrogative Sentence to a Negative Sentence:
Why blame him?

(A) He deserves all the blame.

(B) He is usually the target of the blame.

(C) He should not be blamed.

(D) Should he not be blamed?

(E) Question not attempted

Choose the most appropriate option to transform the given
Assertive Sentence to an Exclamatory Sentence:

It is sad to think that he died so young.

(A) Wish he was still here!

(B)
(©)
(D)

(E) ﬁ

Choose the most appropriate option to correct the following

Alas! He died so young.
Bravo! He died but young.
Did he really die at such a young age?

Question not attempted

sentence:

He has been to Amrapalli, did he?

(A) should he? (B) hadn’t he?
(C) didn’t he? (D) hasn’t he?
(E) Question not attempted

25090M K-



https://skscholar.com

15 15 15 Iy

it

| | \\\ Y | | \\ | \\\
w/ “ w/ X

115

116

117

118

119

120

Fill in the blank with the most appropriate word to complete
the given sentence:

[ was with work towards the end of the year.
(A) inundated (B) enundated

(C) enunciated (D) undated

(E) ogafd 9
Match List I with List IT -
List I List IT
(Sentences) (Articles)
a. Hewon Tony I. a
award last year. E
b.  German is II. an
difficult language.
c.  Prince Vikramaditya III. the

is amiable person.

Choose the most appropriate answer from the options given
below:

(A) a-1,b-1ll,c-1I
(C) a-II,b-MLc-1

(E) rgafd 9

(B) a-ILb-ILc-1I
(D) a-MLb-Tc-II

Choose the sentence with the correct use of determiners.
(A) Each student brought his book.

(B) They have much apples.

(C) Idon’thave a informations.

(D) There is several money in his account.

(E) SATARA 94

Fill in the blank with the most appropriate preposition:
The court has absolved him the crime.

(A) from B) of

(C) with (D) along

(E) ST3aia g4

Choose the option with the correct use of punctuation(s):

(A) “I am going to the mall” tomorrow, she said.
(B)
©
(D)

The prodigy, is but just two Maya.

Ah! We are ruined.

Please send the following items of furniture: chairs
benches tables and stools.

(E) rgafd 92

Choose the most appropriate option to translate the
following sentence from Hindi to English:

(A)
(B)
(©)
(D)
(E)

1 am not going to give you a warning.

I am not going to give you any advice.

I am not willing to give you the permission.
I am not going to give you any explanation.

AR 9

115

116

117

118

119

120

Fill in the blank with the most appropriate word to complete
the given sentence:

[ was with work towards the end of the year.
(A) inundated (B) enundated

(C) enunciated (D) undated

(E) Question not attempted

Match List I with List I -
List I List II
(Sentences) (Articles)
a. Hewon__ Tony . a
award last year.
b.  German is II. an
difficult language.
c.  Prince Vikramaditya III. the

is amiable person.

Choose the most appropriate answer from the options given
below:

(A) a-Lb-1Ill,c-0I0
(C)a-ILb-MILc-1

(E) Question not attempted

(B) a-MLb-I,c-1I
(D) a-MLb-1c-TI

Choose the sentence with the correct use of determiners.
(A) Each student brought his book.

(B) They have much apples.

(C) Idon’thave a informations.

(D) There is several money in his account.

(E) Question not attempted

Fill in the blank with the most appropriate preposition:
The court has absolved him
(A) from
(C) with
(E) Question not attempted

the crime.
(B) of
(D) along

Choose the option with the correct use of punctuation(s):
(A) “I am going to the mall” tomorrow, she said.

(B)
©
(D)

The prodigy, is but just two Maya.
Ah! We are ruined.

Please send the following items of furniture: chairs
© [

Choose the most appropriate option to translate the

benches tables and stools.

Question not attempted

following sentence from Hindi to English:
(A)
(B)
©
D)
(E)

I am not going to give you a warning.

I am not going to give you any advice.

I am not willing to give you the permission.
I am not going to give you any explanation.

Question not attempted
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